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OVERVIEW

Common Core Collaborative Cards support the teaching
and learning of mathematics in several ways. They can
be used:

 As an activator for the day’s lesson
 To review previous content
+ As alearning center activity

« For students’ independent practice

Common Core Collaborative Cards provide convenient
and motivating ways to place students in collaborative
teams for an upcoming unit or problem-solving lesson.

The Common Core Collaborative Cards series consists of
three decks of cards per box, each focusing on the same
domain in the Common Core State Standards (CCSS).
Each deck provides problems representing the standards
articulated in the CCSS for a particular grade level.

Teachers using these decks have commented that they
have been able to observe what their students under-
stand as well as identify their misconceptions. Teachers
have also noted that their students begin to rely on each
other more instead of seeking out the teacher to answer
their questions.

$9.0.0.0.0.0.0.0,
100200000 06%020 %% %%

002000000000 %6% % %%
RIS
%

)

%
e totete!
0500008}
5%

SRR
XK
KKK

X
2%
2
2
2
X
%

et
Po%ede!
fv%
&
&
25
3R
%

%%
o%0%%
2
%%

&
RS
etele!

)
0%
oS
%
2R
%

'O
%0262 %% %% % %% ”0’

O
O
X
)
)
)
)
)
)
)
)
)
)
)
)
)
)
%%
V%
X
b

The cards are designed to place students in groups of
four. Students are each given a card and asked to solve
the problem on it. They then look for three other students
who have the same solution. Once they have located their
team, the students must be ready to explain why each
team member’s card belongs in the group. Here is one
group of cards from Grade 4: Base Ten:

6 hundreds + 15 tens + 2 ones 7 hundreds + 3 tens + 22 ones

hat sumber? hat sumber?

e ready bo dhare with yeur group e ready b share your Eisking with wour group

4 hundreds + 25 tens + 102 ones

The tera dight is
The hesdreds

e ready bo dhare 3 with your group

All four cards in this set have the same answer, 752, so
students who receive one of these cards form a group.
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NUMBER AND OPERATIONS IN
BASE TEN (NBT): GRADE 3

The Grade 3 deck focuses on the NBT standards laid
% out on page 24 of the Common Core State Standards for
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Mathematics.

Each group of four cards presents a different representa-
tion of the quantity. Students solve the question and then
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look for their partners, who will have the same solution.
When students determine their group, they must collabo-
rate to justify why they are indeed members of the same
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group. This deck of cards presents opportunities for stu-
dents to review skills, use place value in varying forms,
and challenge their thinking in a supportive environ-
ment. Teachers may have students discuss their cards,
or they may decide to move directly into the lesson for
the day.

In some cases, students may not have studied a particular
topic. In the process of finding their group, many stu-
dents learn from each other. This opportunity initiates
thinking upon which students can build in the future.

As mentioned earlier in the guide, students build their
understanding through problem solving. As students
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mastered and can plan lessons for individuals and small
groups based those insights.

Here is one group of four cards from the Grade 3 Base
Ten deck. These four problems address three standards
from the Grade 2 domain (2.NBT.1, 3, and 6) and one
standard from the Grade 3 domain (3.NBT.2).

162 +158 = 150 + 20 +150 =

1hundred + 22 tens
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These cards offer students the opportunity to look at
using place value in division. They see the same answer,
105.1, in different contexts. Providing opportunities for
the students to discuss such problems enables them to
enrich their understanding.

Answers for the Grade 5 Base Ten deck are provided on
pages 16-18 of this guide.
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VISIT DIDAX.COM/CCCC

For the following important resources:

* A complete bibliography and links to research that
informed this product

e A complete correlation to the Common Core State
Standards for each grade-level deck

» Meaningful tasks to be used at each grade level (once
students have used the Common Core Collaborative
Cards to form their groups)

ADDITIONAL MEANINGFUL TASKS

One of the best sources of meaningful tasks related
to the Common Core is the book NCSM: Great Tasks
for Mathematics (K-5) by Connie Schrock, Kit Norris,
David K. Pugalee, Richard Seitz, and Fred Hollingshead.
(National Council of Supervisors of Mathematics, 2013,
ISBN: 978-0-9890765-0-0.)
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Find the value.

D

Find the value.

What is this number? This number has a zero in the ones place.
The hundreds digit is one more than the tens digit.
The sum of all the digits is 5.
What is this number?

oS

KKK
QRN
o,

000050508

R

R
9. 0.0.0.0.0. 0.0

9000000000000 %0

0000308

0.0,0.0.0.0.0.0

O, 0.0.0.0.0.0 QR
00,000,000 Q Q K2
00000000.0‘0.0.0.0

R

%

o,
0300503000200,

2

SRERR
00050505020

%
o
2

9% %
2
ot
20

1%

O
%

KK
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This number has a zero in the tens place.

The cnes digit is two bess than the hundreds digit.

The sum of all the digits is 14.
What is this number?

Lavinia has 900 beads.
She gave her friend Becky 94 bead]
How many beads does Lavinia have

What is this number? What is this number?

&5
e ese!

Padeteteteteleleleleee el

%
0

odotete!
atetetetetotetede!
SRR
)
o,

QXXX KRXD
CRRRHKRKRRD

R
SHRHXRKRRNKD

3
3
0.000000000

2%

s
X2
55

6x10
is the same as

ANSWER 10+ 10 + 10 +10 +1

60

3
3
3R

%
dogess
S

RRRRR

—
LRKKKK
LR

What number is this?

What value is halfway between 50 and 70 on thi What number is this?
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Raul has 35 baseball cards. He gave 19 to What is Juanita’s answer? Feter thinks, *I can subtract 19 from Forrest thinks, *l can subtract 19 from 35.
How many baseball cards does he have Explain to your group how Juanita got the Its easy when I use a number line” What answer Its easy when 1 use a number line” What answer does Forrest get?
{Be ready to share his strategy with you! [Be ready to share his strategy with your team.)
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Find the product. Find the product. Find the product. Find the product.
‘Which of your team members has the easiest prg ‘Which of your team members has the easiest prg ‘Which of your team members has the easiest prg ‘Which of your team members has the easiest problem to solve?
Explain your thinking, Explain your thinking, Explain your thinking. Explain your thinking,
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Find the product. Find the product. Find the product. Find the product.
‘Which of your team members has the easiest prg ‘Which of your team members has the easiest prg ‘Which of your team members has the easiest p ‘Which of your team members has the easiest problem to solve?
Explain your thinking. Explain your thinking. Explain your thinking. Explain your thinking.
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| can take 19 away from 32

+ 10
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Sherry’s mother gave her some stickers. She now|
If Sherry had 19 stickers in the beginning, how
Sherry's mother give to her?

What is Goldie’s answer?
Explain to your group how Goldie got t

Cal thinks he can find the answer to 32 - 19 u Jen thinks she can find the answer to 32 - 19 using the number line.
‘What answer does he get? What answer does she get?
Explain Cal's strateqy to your teal Explain Jens strategy to your team,
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Desean has 456 baseball cards of American
The rest are of National League pl;

‘What do you need to add to this number 1o

This number has three digits. The ones (units) digi Chris knows that he can use a number line to add numbers together.
the hundreds digit. The tens digit is 4 more than t Chris begins at 456,
The hundreds digit is 2, What is this nu How much does he add on this number line to make 7407
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When rounded to the nearest hundred, this The tens digit is twice as big as the hund What is this number? The largest value on this card is the one you are looking for.
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Your partners’ cards show the original The ones (units] digit is 6.
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Name the number that is 10 times big
than the number shown on this numb

Find the value.
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‘Clarence says that he can subtract numbers using

Clarence began at 1,000 and made ju

Hew much did he take away from 1,000, and w!
Your group has Clarence’s answer to his subtra

Are these boys thinking of the same
If 50, what is this number?
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If Sara is correct, your partners have the answer The units digit is 4 times greater than the
The units digit is 8. A zero is in the tens
If this s not true. your partners have 1,000 a
What is the number?
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| can divide 8,000 by 10 in
8,000+10=

Find the answer and then discuss with p
how you might calculate this problem in

Find the smallest value on this card.
Round the smallest value to the nearest hundred.
Your partners have this rounded number,

[ I think this involves the order of operations. |

8x100+4x10+7=7

Maurice had $1,000 in the bank He took cut $153
How much did he have left in the bas

Help the girls solve this problem.

| can divide 2,080 by 10 in my head
2,080+10=

‘William has 20848 in his bank acco
If he rounds his money to the nearest
about hew much money does he ha

Find the answer and then discuss with partners
how you might calculate this problem in your head.
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There are 10 children in Henry's family. including Henry.
He and his brothers and sisters have saved £3.000 over the last 5 years.
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Your mother has $8, and she said that you can have 1/10 of this money.
How much money is your mother going to give you?
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Use the number line to find 0.63, Francois told his mother that he had $0.86 i Use the number line to locate 1 Find the solution to Tim's problem.

Which whole number is 0.63 closest ‘Which whole number is 1.23 closest

‘What might Francois say to his mot
if he rounded his money to the nearest
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